

QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

Desoto Isd 601 E BELT LINE RD DESOTO, TX 75115-5103 ACCOUNT NUMBER: 403819

CONTACT:

SALES REP INFORMATION:

Casey Williams casey.williams@mheducation.com (214) 207-9269

Section Summary		Value of All Materials	Free Materials	Product Subtotal
TX SCIENCE GRADES K-12-1YR BUNDLES	_	\$308,490.24	(\$43,146.60)	\$265,343.64
	PRODUCT TOTAL*	\$308,490.24	(\$43,146.60)	\$265,343.64
	ESTIMATED S&H**			\$2,542.22
	ESTIMATED TAX**			\$0.00
	GRAND TOTAL*			\$267,885.86

^{*} Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:

BuyBoard #653-21

Professional Development included until April 2025

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC |

 ${\bf Email: orders_mhe@mheducation.com \mid Phone: \mid Fax:}$

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
TX SCIENCE GRADES K-12-1YR BUNDLES					
GRADE K					
MCGRAW HILL TEXAS SCIENCE GRADE K COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCR	978-1-26-657178-7	423	\$49.98	\$0.00	\$21,141.54
	1		1	1	1
MCGRAW HILL TEXAS SCIENCE GRADE K ONLINE TEACHER CENTER 1 YEAR SUBSCRIPTION	978-1-26-553248-2	19	\$69.99	\$1,329.81	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE K TEACHER EDITION	978-1-26-551471-6	19	\$247.98	\$4,711.62	*Free Materials
		GRA	DE K Subtotal:	\$6,041.43	\$21,141.54
GRADE 1					
MCGRAW HILL TEXAS SCIENCE GRADE 1 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCR	978-1-26-657564-8	343	\$49.98	\$0.00	\$17,143.14
MCGRAW HILL TEXAS SCIENCE GRADE 1 ONLINE TEACHER CENTER 1 YEAR SUBSCRIPTION	978-1-26-553595-7	16	\$69.99	\$1,119.84	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 1 TEACHER EDITION	978-1-26-551583-6	16	\$247.98	\$3,967.68	*Free Materials
		GRA	DE 1 Subtotal:	\$5,087.52	\$17,143.14
GRADE 2					
MCGRAW HILL TEXAS SCIENCE GRADE 2 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCR	978-1-26-657610-2	329	\$49.98	\$0.00	\$16,443.42
		-			
MCGRAW HILL TEXAS SCIENCE GRADE 2 TEACHER EDITION	978-1-26-551585-0	15	\$247.98	\$3,719.70	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 2 ONLINE TEACHER CENTER 1 YEAR SUBSCRIPTION	978-1-26-553930-6	15	\$69.99	\$1,049.85	*Free Materials
		GRA	DE 2 Subtotal:	\$4,769.55	\$16,443.42
GRADE 3					
MCGRAW HILL TEXAS SCIENCE GRADE 3 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCR	978-1-26-657767-3	339	\$49.98	\$0.00	\$16,943.22
MCGRAW HILL TEXAS SCIENCE GRADE 3 TEACHER EDITION	978-1-26-551790-8	15	\$247.98	\$3,719.70	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 3 ONLINE TEACHER CENTER 1 YEAR SUBSCRIPTION	978-1-26-554191-0	15	\$69.99	\$1,049.85	*Free Materials
MCGRAW HILL TX SCIENCE GRADE 3 TEKS ASSESSMENT GUIDE	978-1-26-527333-0	15	\$19.98	\$299.70	*Free Materials
		GRA	DE 3 Subtotal:	\$5,069.25	\$16,943.22
GRADE 4					
MCGRAW HILL TEXAS SCIENCE GRADE 4 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCR	978-1-26-657823-6	373	\$49.98	\$0.00	\$18,642.54

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC |

 ${\bf Email: orders_mhe@mheducation.com \mid Phone: \mid Fax:}$



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
MCGRAW HILL TEXAS SCIENCE GRADE 4 TEACHER EDITION	978-1-26-551848-6	17	\$247.98	\$4,215.66	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 4 ONLINE TEACHER CENTER 1 YEAR SUBSCRIPTION	978-1-26-554263-4	17	\$69.99	\$1,189.83	*Free Materials
MCGRAW HILL TX SCIENCE GRADE 4 TEKS ASSESSMENT GUIDE	978-1-26-527468-9	17	\$19.98	\$339.66	*Free Materials
		GRA	DE 4 Subtotal:	\$5,745.15	\$18,642.54
GRADE 5					
MCGRAW HILL TEXAS SCIENCE GRADE 5 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCR	978-1-26-657851-9	366	\$49.98	\$0.00	\$18,292.68
MCGRAW HILL TEXAS SCIENCE GRADE 5 TEACHER EDITION	978-1-26-551868-4	17	\$247.98	\$4,215.66	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 5 ONLINE TEACHER CENTEI 1 YEAR SUBSCRIPTION	978-1-26-554563-5	17	\$69.99	\$1,189.83	*Free Materials
MCGRAW HILL TX SCIENCE GRADE 5 TEKS ASSESSMENT GUIDE	978-1-26-527487-0	17	\$19.98	\$339.66	*Free Materials
		GRA	DE 5 Subtotal:	\$5,745.15	\$18,292.68
Grade 6					
MCGRAW HILL TEXAS SCIENCE GRADE 6 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCRIPTION	978-1-26-653393-8	200	\$49.98	\$0.00	\$9,996.00
MCGRAW HILL TEXAS SCIENCE GRADE 6 COMPLETE DIGITAL STUDENT EDITION 1YR SUBSC	978-1-26-557267-9	204	\$34.98	\$0.00	\$7,135.92
	.1		1	ı	
MCGRAW HILL TEXAS SCIENCE GRADE 6 ONLINE TEACHER EDITION 1 YR SUBSC	978-1-26-557601-1	6	\$69.99	\$419.94	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 6 TEACHER EDITION	978-1-26-556917-4	6	\$247.98	\$1,487.88	*Free Materials
MCGRAW HILL TX GRADE 6 TEKS ASSESSMENT GUIDE	978-1-26-498172-4	6	\$19.98	\$119.88	*Free Materials
		Gra	ade 6 Subtotal:	\$2,027.70	\$17,131.92
<u>Grade 7</u>			l	I	T
MCGRAW HILL TEXAS SCIENCE GRADE 7 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCRIPTION	978-1-26-653636-6	200	\$49.98	\$0.00	\$9,996.00
MCGRAW HILL TEXAS SCIENCE GRADE 7 COMPLETE DIGITAL STUDENT EDITION 1YR SUBSC	978-1-26-557480-2	211	\$34.98	\$0.00	\$7,380.78
MCGRAW HILL TEXAS SCIENCE GRADE 7 ONLINE TEACHER EDITION	4				
1 YR SUBSC	978-1-26-557636-3	6	\$69.99	\$419.94	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 7 TEACHER EDITION	978-1-26-556985-3	6	\$247.98	\$1,487.88	*Free Materials
MCGRAW HILL TX GRADE 7 TEKS ASSESSMENT GUIDE	978-1-26-498218-9	6	\$19.98	\$119.88	*Free Materials
		_	ade 7 Subtotal:	\$2,027.70	\$17,376.78

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC |

 ${\bf Email: orders_mhe@mheducation.com \mid Phone: \mid Fax:}$



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
MCGRAW HILL TEXAS SCIENCE GRADE 8 COMPREHENSIVE STUDENT BUNDLE 1 YR SUBSCRIPTION	978-1-26-653871-1	200	\$49.98	\$0.00	\$9,996.00
MCGRAW HILL TEXAS SCIENCE GRADE 8 COMPLETE DIGITAL STUDENT EDITION 1YR SUBSC	978-1-26-557513-7	211	\$34.98	\$0.00	\$7,380.78
		•	•		
MCGRAW HILL TEXAS SCIENCE GRADE 8 ONLINE TEACHER EDITION 1 YR SUBSC	978-1-26-557641-7	6	\$69.99	\$419.94	*Free Materials
MCGRAW HILL TEXAS SCIENCE GRADE 8 TEACHER EDITION	978-1-26-557179-5	6	\$247.98	\$1,487.88	*Free Materials
MCGRAW HILL TX GRADE 8 TEKS ASSESSMENT GUIDE	978-1-26-498226-4	6	\$19.98	\$119.88	*Free Materials
		Gra	ide 8 Subtotal:	\$2,027.70	\$17,376.78
<u>Biology</u>					
MCGRAW HILL TEXAS BIOLOGY COMPREHENSIVE STUDENT BUNDLE 1 YEAR SUBSCRIPTION	978-1-26-643315-3	160	\$99.99	\$0.00	\$15,998.40
MCGRAW HILL TEXAS BIOLOGY COMPLETE DIGITAL STUDENT EDITION 1 YEAR SUBSCRIPTION	978-1-26-576585-9	310	\$34.98	\$0.00	\$10,843.80
MCGRAW HILL TX BIOLOGY ONLINE TEACHER EDITION 1YR		<u> </u>			
SUBSCRIPTION	978-1-26-576895-9	7	\$79.98	\$559.86	*Free Materials
MCGRAW HILL TX BIOLOGY PRINT TEACHER EDITION	978-1-26-576502-6	2	\$299.97	\$599.94	*Free Materials
MCGRAW HILL TX BIOLOGY TEKS ASSESSMENT GUIDE	978-1-26-497940-0	2	\$22.50	\$45.00	*Free Materials
		Bio	logy Subtotal:	\$1,204.80	\$26,842.20
<u>Chemistry</u>					
MCGRAW HILL TEXAS CHEMISTRY COMPREHENSIVE STUDENT BUNDLE 1 YEAR SUBSCRIPTION	978-1-26-644144-8	120	\$99.99	\$0.00	\$11,998.80
MCGRAW HILL TEXAS CHEMISTRY COMPLETE DIGITAL STUDENT EDITION 1 YEAR SUBSCRIPTION	978-1-26-576224-7	535	\$34.98	\$0.00	\$18,714.30
			•		
MCGRAW HILL TEXAS CHEMISTRY PRINT TEACHER EDITION	978-1-26-576217-9	2	\$299.97	\$599.94	*Free Materials
MCGRAW HILL TEXAS CHEMISTRY DIGITAL TEACHER EDITION 1 YEAR SUBSCRIPTION	978-1-26-576225-4	10	\$79.98	\$799.80	*Free Materials
	•	Chem	istry Subtotal:	\$1,399.74	\$30,713.10
PHYSICS					_
MCGRAW HILL TEXAS PHYSICS COMPREHENSIVE STUDENT BUNDLE 1 YEAR SUBCRIPTION	978-1-26-643584-3	120	\$99.99	\$0.00	\$11,998.80
MCGRAW HILL TEXAS PHYSICS COMPLETE DIGITAL STUDENT EDITION 1 YEAR SUBSCRIPTION	978-1-26-577565-0	439	\$34.98	\$0.00	\$15,356.22

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC |

Email: orders_mhe@mheducation.com | Phone: | Fax:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
MCGRAW HILL TEXAS PHYSICS ONLINE TEACHER EDITION 1 YEAR SUBSCRIPTION	978-1-26-577613-8	9	\$79.98	\$719.82	*Free Materials
MCGRAW HILL TEXAS PHYSICS PRINT TEACHER EDITION	978-1-26-577538-4	2	\$299.97	\$599.94	*Free Materials
		PHYS	SICS Subtotal:	\$1,319.76	\$27,355.02
Principles of Environmental Science					

Principles of Environmental Science					
CUNN PRINC ENV SCI 2023 1E PRM STDNT BDL SE W LAB MNL ONLN SE 1YR SUBSCRIPTION	978-0-07-703689-8	67	\$95.10	\$0.00	\$6,371.70
CUNNINGHAM PRINCIPLES OF ENVIRONMENTAL SCIENCE 2023 1E ONLINE SE 1 YR SUB	978-0-07-700652-5	220	\$61.68	\$0.00	\$13,569.60
CUNNINGHAM PRINCIPLES OF ENVIRONMENTAL SCIENCE 2023 1E ONLINE TE 1 YR SUB	978-0-07-700657-0	4	\$159.15	\$636.60	*Free Materials
CUNNINGHAM PRINCIPLES OF ENVIRONMENTAL SCIENCE 2023 1E TEACHER MANUAL	978-0-07-700651-8	1	\$44.55	\$44.55	*Free Materials

Principles of Environmental Science Subtotal:

\$681.15

\$19,941.30

TX SCIENCE GRADES K-12-1YR BUNDLES Subtotal:

\$43,146.60

\$265,343.64

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC |

Email: orders_mhe@mheducation.com | Phone: | Fax:

QUOTE DATE: 04/12/2024 ACCOUNT NAME: Desoto Isd EXPIRATION DATE: 08/10/2024 5

QUOTE NUMBER: SRICH-04122024123229-001 ACCOUNT #: 403819 PAGE #:



QUOTE PREPARED FOR:

Desoto Isd 601 E BELT LINE RD DESOTO, TX 75115-5103 ACCOUNT NUMBER: 403819

CONTACT:

VALUE OF ALL MATERIALS	\$308,490.24
FREE MATERIALS	(\$43,146.60)
PRODUCT TOTAL*	\$265,343.64
ESTIMATED SHIPPING & HANDLING**	\$2,542.22
ESTIMATED TAX**	\$0.00
GRAND TOTAL	\$267,885.86

SUBSCRIPTION/DIGITAL CONTACT:

_		
		nts'

BuyBoard #653-21

Professional Development included until April 2025

- Price firm for 120 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
- **Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or <a href="https://www.mheducat

School Purchase Order Number:				
Name of School Official (Please Print)	Signature of School Official			

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC |

 ${\bf Email: orders_mhe@mheducation.com \mid Phone: \mid Fax:}$

QUOTE DATE: 04/12/2024 ACCOUNT NAME: Desoto Isd EXPIRATION DATE: 08/10/2024

QUOTE NUMBER: SRICH-04122024123229-001 ACCOUNT #: 403819 PAGE #: 6